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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 475 59.21 | #nS | 000 ~ 0.00| 1.78 8.99 st 1.00 | 6.00 ~ 5.00 59.21 | =ns | 5.00 ~ 6.00| 1.78 8.99
2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.12 76.72 | NS | 000 ~ 000 1.65 8.35 st 1.00 | 6.00 ~ 7.20 76.72 | TNRSY | 500 ~ 7.20| 1.65 8.35
3 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.54 82.38 | =hLs | 000 ~ 000 1.72 870 st 1.00 | 6.00 ~ 7.80 82.38 | =ns | 5.00 ~ 780 1.72 8.70
4 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 7.04 89.31 | =St | 000 ~ 0.00| 1.73 876 st 1.00 | 6.00 ~ 8.80 89.31 | =n4 | 5,00 ~ 880 1.73 876
5 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 698 8851 | #nS | 0.00 ~ 0.00| 1.65 8.33 st 1.00 | 5.00 ~ 9.00 88.51 | #n4 | 5.00 ~ 9.00| 1.65 8.33
P 100kN/mM#E#BZ5 | 1.00 | 0.00 ~ 0.99 114.84 |3m%Ei#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 11.61 ~ 1580 | 114.84 |3m%E#BZ% -~
s 1.00 | 099 ~ 877 100.00 | #nst | 000 ~ 877|216 10.92 st 1.00 | 6.00 ~ 1161 100.00 | =nLst | 6.00 ~ 1580 2.16 10.92
- 100kN/m##8%% | 1.00 | 000 ~ 098 114.77 |3m%E{BZ% -~ - - -] 100kN/ %825 | 1.00 | 11.29 ~ 1510 114.77 |3m%E#BZ% -~
s 1.00 | 098 ~ 877 100.00 | #nst | 000 ~ 877|219 11.08 st 1.00 | 6.00 ~ 1129 100.00 | =hst | 6.00 ~ 1510| 2.19 11.08
P 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 4.72 5888 | #ns | 000 ~ 4.72| 1.81 912 st 1.00 | 6.00 ~ 5.00 58.88 | =S | 5.00 ~ 5.00| 1.81 912
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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